TOWN OF MILLIS	S										
	013 POLICE BUDGET			PERSO	NNEL SU	MMARY ,	ORM 6				
1	2	3	4	5	6	7	8 8	9	10	11	12
		CURRENT TOTAL	HRS/			ANNIV	ANNUAL SALARY	BASE	OTHER	LON-	TOTAL
NAME	POSITION-PAY ITEM	ANNUAL SALARY	WEEK	GRADE	STEP	DATE	# WKS/YR/HRS @ SAL	SALARY	PAY	GEVITY	SALARY
Edison, K	Chief	\$120,000.00	40					\$120,000.00			\$120,000.00
											\$120,000.00
Leavitt, T	Admin Assist	\$20,706.40	20	6		4/28	416.20 x 43	\$17,897.00			\$17,897.00
							425.60 x 9	\$3,831.00			\$3,831.00
											\$21,728.00
Dwyer, W	Sgt	\$88,113.68	40				1323058 x 52	\$68,828.00		\$990.00	\$69,818.00
	Education	\$13,697.32	20%				264.72 x 52		\$13,768.00		\$13,768.00
	EMT	\$1,147.20							\$1,147.20		\$1,147.20
	Holiday Pay	\$3,793.08	12				322.07 x 52		\$3,865.00		\$3,865.00
											\$88,598.20
Quinn, T	Sgt	\$83,465.06	40				1323058 x 52	\$68,828.00		\$908.00	\$69,736.00
	Education	\$6,848.40	10%				264.72 x 52		\$6,883.00		\$6,883.00
	Holiday Pay	\$3,476.04	12				291.28 x 52		\$3,596.00		\$3,596.00
	Night Differential	\$3,765.84	5%				72.81 x 52%		\$3,786.00		\$3,786.00
											\$84,001.00

					ORM 6				
Sgt	\$71,016.20	40			1285.69 x 52	\$66,856.00		\$825.00	\$67,681.00
Holiday Pay	\$3,010.32	12			257.14 x 12		\$3,086.00		\$3,086.00
Night Differential	\$1,956.76	2.5%			32.16 x 52		\$1,672.00		\$1,672.00
									\$72,439.00
									\$72,439.00
									Ψ72,107.00
Sgt		40			1178.96 x 52	\$61,306.00		\$990.00	\$62,296.00
Education		20%			235.79 x 52		\$12,262.00		\$12,262.00
Holiday		12			283 x 12		\$3,396.00		\$3,396.00
Night Differential		5%			70.75 x 52		\$3,679.00		\$3,679.00
EMT							\$1,147.20		\$1,147.20
M/C Stipend							\$360.00		\$360.00
									\$83,140.20
Patrolman	\$65,876.16	40			1159.18 x 52	\$60,278.00		\$825.00	\$61,103.00
Holiday Pay	\$2,768.40	12			231.85 x 12		\$2,782.00		\$2,782.00
Firearms Instructor	\$500.00						\$500.00		\$500.00
Nightdifferential	\$1,507.03	2.5%			28.98 x 52		\$1,507.00		\$1,507.00
									\$65,892.00
	Holiday Pay Night Differential Sgt Education Holiday Night Differential EMT M/C Stipend Patrolman Holiday Pay Firearms Instructor	Night Differential \$1,956.76 Sgt Education Holiday Night Differential EMT M/C Stipend Patrolman \$65,876.16 Holiday Pay \$2,768.40 Firearms Instructor \$500.00	Holiday Pay	Holiday Pay	Holiday Pay	Sgt \$71,016.20 40 1285.69 x 52 Holiday Pay \$3,010.32 12 257.14 x 12 Night Differential \$1,956.76 2.5% 32.16 x 52 Sgt 40 1178.96 x 52 Education 20% 235.79 x 52 Holiday 12 283 x 12 Night Differential 5% 70.75 x 52 EMT WC Stipend 1159.18 x 52 Holiday Pay \$2,768.40 12 231.85 x 12 Firearms Instructor \$500.00 12 231.85 x 12	Sgt \$71,016.20 40 1285.69 x 52 \$66,856.00 Holiday Pay \$3,010.32 12 257.14 x 12 Night Differential \$1,956.76 2.5% 32.16 x 52 Sgt 40 1178.96 x 52 \$61,306.00 Education 20% 235.79 x 52 Holiday 12 283 x 12 Night Differential 5% 70.75 x 52 EMT M/C Stipend Patrolman \$65,876.16 40 1159.18 x 52 \$60,278.00 Holiday Pay \$2,768.40 12 231.85 x 12 Firearms Instructor \$500.00 \$500.00	Sgt \$71,016.20 40 1285.69 x 52 \$66,856.00 Holiday Pay \$3,010.32 12 257.14 x 12 \$3,086.00 Night Differential \$1,956.76 2.5% 32.16 x 52 \$1,672.00 Sgt 40 1178.96 x 52 \$61,306.00 Education 20% 235.79 x 52 \$12,262.00 Holiday 12 283 x 12 \$3,360.00 EMT \$1,147.20 \$3,679.00 EMT \$1,147.20 \$360.00 Patrolman \$65,876.16 40 1159.18 x 52 \$60,278.00 Holiday Pay \$2,768.40 12 231.85 x 12 \$2,782.00 Firearms Instructor \$500.00 \$500.00 \$500.00	Sgt \$71,016.20 40 1285.69 x 52 \$66,856.00 \$825.00 Holiday Pay \$3,010.32 12 257.14 x 12 \$3,086.00 Night Differential \$1,956.76 2.5% 32.16 x 52 \$1,672.00 Sgt 40 1178.96 x 52 \$61,306.00 \$990.00 Education 20% 235.79 x 52 \$12,262.00 Holiday 12 283 x 12 \$3,396.00 Night Differential 5% 70.75 x 52 \$3,679.00 EMT \$1,147.20 MC Stipend \$360.00 \$825.00 Patrolman \$65,876.16 40 1159.18 x 52 \$60,278.00 \$825.00 Holiday Pay \$2,768.40 12 231.85 x 12 \$2,782.00 \$500.00

					FC	ORM 6					
Patrolman	\$65,876.16	40					1159.18 x 52	\$60,278.00		\$825.00	\$61,103.00
Holiday Pay	\$2,768.40	12					231.85 x 12		\$2,782.00		\$2,782.00
EMT	\$1,147.23								\$1,147.20		\$1,147.20
Prosecutor	\$500.00								\$500.00		\$500.00
											\$65,532.20
											Ψ00,002.20
Detective	\$83,298.48	40					1159.18 x 52	\$60,278.00		\$1,032.00	\$61,310.00
Education	\$14,995.00	25%					289.81 x 52		\$15,071.00		\$15,071.00
Holiday	\$3,460.56	12					289.91 x 12		\$3,478.00		\$3,478.00
ID Officer Stipend	\$325.00								\$325.00		\$325.00
Detective Stipend	\$1,250.00						255.04 x 12		\$3,061.00		\$3,061.00
Night Differential	\$2,249.52	2%					43.48 x 52		\$2,261.00		\$2,261.00
											\$85,506.00
Patrolman	\$66,576.32	40					1159.18 x 52	\$60,278.00		\$825.00	\$61,103.00
Holiday Pay	\$2,768.40	12					231.85 x 12		\$2,782.00		\$2,782.00
Night Differential	\$3,000.40	5%					58.97 x 52		\$3,014.00		\$3,014.00
											\$66,899.00
	Holiday Pay EMT Prosecutor Detective Education Holiday ID Officer Stipend Detective Stipend Night Differential Patrolman Holiday Pay	Holiday Pay \$2,768.40 EMT \$1,147.23 Prosecutor \$500.00 Detective \$83,298.48 Education \$14,995.00 Holiday \$3,460.56 ID Officer Stipend \$325.00 Detective Stipend \$1,250.00 Night Differential \$2,249.52 Patrolman \$66,576.32 Holiday Pay \$2,768.40	Holiday Pay \$2,768.40 12 EMT \$1,147.23 Prosecutor \$500.00 Detective \$83,298.48 40 Education \$14,995.00 25% Holiday \$3,460.56 12 ID Officer Stipend \$325.00 Detective Stipend \$1,250.00 Night Differential \$2,249.52 2% Patrolman \$66,576.32 40 Holiday Pay \$2,768.40 12	Holiday Pay \$2,768.40 12 EMT \$1,147.23 Prosecutor \$500.00 Detective \$83,298.48 40 Education \$14,995.00 25% Holiday \$3,460.56 12 ID Officer Stipend \$325.00 Detective Stipend \$1,250.00 Night Differential \$2,249.52 2% Patrolman \$66,576.32 40 Holiday Pay \$2,768.40 12	Holiday Pay \$2,768.40 12	Patrolman \$65,876.16 40 Holiday Pay \$2,768.40 12 EMT \$1,147.23 Prosecutor \$500.00 Detective \$83,298.48 40 Education \$14,995.00 25% Holiday \$3,460.56 12 ID Officer Stipend \$325.00 Detective Stipend \$1,250.00 Night Differential \$2,249.52 2% Patrolman \$66,576.32 40 Holiday Pay \$2,768.40 12	## Substitute	Patrolman \$65,876.16 40 1159.18 x 52 Holiday Pay \$2,768.40 12 231.85 x 12 EMT \$1,147.23 231.85 x 12 Prosecutor \$500.00 1159.18 x 52 Detective \$83,298.48 40 1159.18 x 52 Education \$14,995.00 25% 289.81 x 52 Holiday \$3,460.56 12 289.91 x 12 ID Officer Stipend \$325.00 255.04 x 12 Night Differential \$2,249.52 2% 43.48 x 52 Patrolman \$66,576.32 40 1159.18 x 52 Holiday Pay \$2,768.40 12 231.85 x 12	Patrolman \$65,876.16 40 1159.18 x 52 \$60,278.00 Holiday Pay \$2,768.40 12 231.85 x 12 EMT \$1,147.23 231.85 x 12 Prosecutor \$500.00 1159.18 x 52 Detective \$83,298.48 40 1159.18 x 52 \$60,278.00 Education \$14,995.00 25% 289.81 x 52 Holiday \$3,460.56 12 289.91 x 12 ID Officer Stipend \$325.00 255.04 x 12 Night Differential \$2,249.52 2% 43.48 x 52 Patrolman \$66,576.32 40 1159.18 x 52 \$60,278.00 Holiday Pay \$2,768.40 12 231.85 x 12	Patrolman \$65,876.16 40 1159.18 x 52 \$60,278.00 Holiday Pay \$2,768.40 12 231.85 x 12 \$2,782.00 EMT \$1,147.23 \$1,147.20 \$1,147.20 Prosecutor \$500.00 \$500.00 \$500.00 Detective \$83,298.48 40 \$159.18 x 52 \$60,278.00 Education \$14,995.00 25% 289.81 x 52 \$15,071.00 Holiday \$3,460.56 12 289.91 x 12 \$3,478.00 ID Officer Stipend \$325.00 \$325.00 \$325.00 Detective Stipend \$1,250.00 255.04 x 12 \$3,061.00 Night Differential \$2,249.52 2% 43.48 x 52 \$2,261.00 Patrolman \$66,576.32 40 \$159.18 x 52 \$60,278.00 Holiday Pay \$2,768.40 12 231.85 x 12 \$2,782.00	Patrolman \$65,876.16 40 1159.18 x 52 \$60,278.00 \$825.00 Holiday Pay \$2,768.40 12 231.85 x 12 \$2,782.00 EMT \$1,147.23 \$1,147.20 \$1,147.20 Prosecutor \$500.00 \$500.00 \$500.00 Detective \$83,298.48 40 \$159.18 x 52 \$60,278.00 \$1,032.00 Education \$14,995.00 25% 289.81 x 52 \$15,071.00 Holiday \$3,460.56 12 289.91 x 12 \$3,478.00 ID Officer Stipend \$325.00 \$325.00 \$325.00 Detective Stipend \$1,250.00 255.04 x 12 \$3,061.00 Night Differential \$2,249.52 2% 43.48 x 52 \$2,261.00 Patrolman \$66,576.32 40 \$159.18 x 52 \$60,278.00 \$825.00 Holiday Pay \$2,768.40 12 231.85 x 12 \$2,782.00

						FORM 6					
Mariggio, R	Patrolman	\$63,336.00	40		·	OTTIVI O	1159.18 x 52	\$60,278.00		\$825.00	\$61,103.00
	Holiday Pay	\$2,768.40	12				231.85 x 12		\$2,782.00		\$2,782.00
	M/C Stipend	\$300.00							\$300.00		\$300.00
	We Superiu	\$300.00							ψ300.00		
											\$64,185.00
Adams. P	Patrolman	\$71,913.17	40				1159.18 x 52	\$60,278.00		\$908.00	\$61,186.00
	Education	\$5,998.25	10%				115.92 x 52		\$6,028.00		\$6,028.00
	Holiday	\$3,045.26	12				255.02 x 12		\$3,061.00		\$3,061.00
	Night Differential	\$1,979.64	2.5%				31.89 x 52		\$1,658.00		\$1,658.00
											\$71,933.00
Shearns. J	Patrolman	\$78,240.16	40				1159.18 x 52	\$60,278.00		\$870.00	\$61,148.00
	Education	\$11,996.50	20%				231.84 x 52		\$12,056.00		\$12,056.00
	Holiday	\$3,322.10	12				278.21 x 12		\$3,339.00		\$3,339.00
	Night Differential	\$2,159.04	2.5%				1/2(5%)		\$1,809.00		\$1,809.00
											\$78,352.00
Soffayer, C											

Meleski, N	Patrolman	\$64,266.30	40			11	126.21 x 52	\$58,563.00		\$400.00	\$58,963.00
	Holiday	\$2,689.08	12		ı	ORM 6	225.25 x 12		\$2,703.00		\$2,703.00
	Night Differential	\$2,913.04	5%				56.33 x 52		\$2,929.00		\$2,929.00
											\$64,595.00
Maxant, K	Patrolman	\$75,937.00	40			11	126.21 x 52	\$58,563.00		\$400.00	\$58,963.00
	Education	\$11,546.00	20%			2	225.23 x 52		\$11,712.00		\$11,712.00
	Holiday	\$3,197.00	12				271 x 12		\$3,252.00		\$3,252.00
	Night Differential	\$3,464.00	5%				67.58 x 52		\$3,514.00		\$3,514.00
											\$77,441.00
Bickford. D	Patrolman	\$55,200.00	40			(971.27 x 44) (1	021.96 x 8)	\$50,912.00			\$50,912.00
	Holiday	\$2,197.32	12			(194.26 x 11)	(204.40 x1)		\$2,341.26		\$2,341.26
	Night Differential	\$2,500.20	5%			(48.57 x 44)	(51.10 x 8)		\$2,546.00		\$2,546.00
											\$55,799.26
Sub Totals	Education	\$77,780.00									
	Holiday	\$43,245.26									
	Night Differential	\$28,375.00									
	Stipends	\$8,487.60									
	Wages	\$855,802.00									
	Longevity	\$10,623.00									
SUBTOTAL/TOTAL								\$997,530.00	\$157,887.86	\$10,623.00	\$1,166,040.86 \$1,166,040.86

				The state of the s						
FORM 6										